
TECHNICAL SPECIFICATIONS – CHASSIS

SUPPLEMENT ART. NO. 3.211.130 
TO OWNER’S MANUAL ART. NO. 3.211.71

CHASSIS 105 SX

Frame Central chrome-moly-steel frame

Fork telescopic fork WP Suspension 43 MXMA

Wheel travel front/rear 275 mm / 300 mm

Rear suspension WP PDS 4618 (Progressive Damping System) shock absorber

Front brake Disc brake  Ø 220 mm, 4 piston

Rear brake Disc brake  Ø 200 mm, 4 piston

Tires front 70/100-19“  Pirelli MT 32A 

Tires rear 90/100-16“  Pirelli MT 320

Air pressure 1.0 bar

Fuel tank capacity 5.1 liter

Final drive ratio 14 : 49 t

Chain 1/2 x 5/16"  122 rolls

Steering angle 66 ° 

Wheel base 1290 mm

Seat height, unloaded 900 mm

Ground clearance 415 mm

Dead weight without fuel 68 kg

Rider’s body weight max. 75 kg

Recommended age of rider 10 to 15 years

STANDARD ADJUSTMENT – FORK

WP 4357 MXMA
05187B05

Compression adjuster 20

Rebound adjuster 20

Spring 3 N/mm

Spring preload 3 mm

Air chamber length 110 mm

Fork oil SAE 5

STANDARD ADJUSTMENT - SHOCK ABSORBER

WP 4618 PDS-DCC

WP 15187B02

Compression adjuster
15 LS (LOW SPEED)

2 HS (HIGH SPEED)

Rebound adjuster 22

Spring 35-215

Spring preload 4 MM

TIGHTENING TORQUES - CHASSIS

Hexagon bolt - brake caliper front M 8 Loctite 243 + 25 Nm

Allan head screw - brake pads rear M6 5 Nm

Flat head bolt - brake discs M6 Loctite 243 + 10 Nm

Hexagon nut - front wheel spindle M 10x 1.5 40 Nm

Hexagon nut - rear wheel spindle M 20x1.5 80 Nm

Hexagon nut - swingarm bolt M 14/M 16x1.5 75 Nm

Clamping bolts - top triple clamp M 8 20 Nm

Clamping bolts - bottom triple clamp M 8 15 Nm

Bolt - handlebar clamp M 8 20 Nm

Spoke nipple M 4,5/M 5 4.5 - 6 Nm

Other chassis bolts
M6
M8
M10

10 Nm
25 Nm
45 Nm

105 SX 2006



TECHNICAL SPECIFICATIONS - ENGINE »
ENGINE 105 SX  2006

Design Liquid cooled single cylinder two-stroke engine with reed valve intake

Displacement 103.96 ccm

Bore/stroke 52 / 48.95 mm

Fuel unleaded fuel with at least RON 95 (USA = Premium RON 91), mixed with high grade two-stroke oil

Oil/gasoline ratio
1 : 40 - 1 : 60 when using high grade two-stroke oil (e.g. Motorex 2T Crosspower), 
when in doubt, please contact your importer

Lubrication mixture lubrication

Crankshaft bearing deep-groove ball bearing, cylinder roller bearing

Connecting rod bearing needle bearing

Piston pin bearing needle bearing

Piston rings 1 compression ring

Primary drive straight cut spur gears, 19 : 66 t

Clutch multiple disc clutch in oil bath, hydraulic operated (Motorex Kupplungs-Fluid 75)

Transmission 6 speed, claw actuated

Gear ratio

1st gear   11 : 29
2nd gear   14 : 28
3rd gear   16 : 26
4th gear   19 : 26
5th gear   21 : 25
6th gear   20 : 21

Transmission oil 0.5 liter engine oil Motorex Topspeed 4T 15W50

Ignition system Moric Digital 2M1

Spark plug NGK BR 10 ECMVX

Electrode gap 0.60 mm

Carburetor flat-slide carburetor, carburetor see table

Coolant 1 liter, mixture 50% antifreeze, 50% distilled water, at least –25° C (-13° F)

Air filter wet foam type air filter insert

BASIC CARBURETOR SETTING

Carburetor Keihin PWK 28

Main jet 118

Needle jet 2.6

Idling jet 45

Jet needle N5HG

Needle position from top III

Throttle valve 3.5

Starting jet 62

Air adjustment screw open 1,5



TECHNICAL SPECIFICATIONS - ENGINE »
TIGHTENING TORQUES - ENGINE

Flange bolts - cylinder-head M 6 10 Nm

Nuts-cylinder base M 8 30 Nm

Flywheel collar nut M 12X1 60 Nm

Primary gear bolt M 10X1,25 Loctite 243 + 80 Nm

Nut for inner clutch hub M 14X1,25 Loctite 243 + 60 Nm

Crankcase and cover bolts M 6 8 Nm

Spark plug M 14X1,25 20 Nm

Swingarm pivot M 14X1,5 75 Nm

Reed valve housing M 6 6 Nm

Kickstarter M 6 Loctite 243 + 12 Nm

Shift lever M 6 Loctite 243 + 12 Nm

Other bolts
M 5
M 6

6 Nm
10 Nm



CARBURETOR SETTING »
VERGASERREGULIERUNG
CARBURETOR SETTING

KEIHIN PWK 28
85 / 105 SX 2006

MEERESHÖHE
ALTITUDE

TEMPERATUR
TEMPERATURE

- 20°C  bis  -7°C

-2°F  to  20°F

- 6°C  bis  5°C

19°F  to  41°F

6°C  bis  15°C

42°F  to  60°F

16°C  bis  24°C

61°F  to  78°F

25°C  bis  38°C

79°F  to  98°F

3000 m
10000 ft

2301 m
7501 ft

LSO ASO
LD IJ
NADEL NEEDLE
POS POS
HD MJ

1,5
45

N5HG
2

118

1,75
42

N5HH
3

115

2
40

N5HH
2

115

2,25
38

N5HH
1

115

2,5
38

N5HH
1

115

2300 m
7500 ft

1501 m
5001 ft

LSO ASO
LD IJ
NADEL NEEDLE
POS POS
HD MJ

1,25
48

N5HG
3

120

1,5
45

N5HG
2

118

1,75
42

N5HH
3

115

2
40

N5HH
2

115

2,25
38

N5HH
1

115

1500 m
5000 ft

751 m
2501 ft

LSO ASO
LD IJ
NADEL NEEDLE
POS POS
HD MJ

1
50

N5HF
3

122

1,25
48

N5HG
3

120

1,5
45

N5HG
2

118

1,75
42

N5HH
2

115

2
40

N5HH
2

115

750 m
2500 ft

301 m
1001 ft

LSO ASO
LD IJ
NADEL NEEDLE
POS POS
HD MJ

0,75
50

N5HF
4

125

1
50

N5HF
3

122

1,25
48

N5HG
3

120

1,5
45

N5HG
3

118

1,75
42

N5HH
2

115

300 m
1000 ft

Meeresniveau
Sea level

LSO ASO
LD IJ
NADEL NEEDLE
POS POS
HD MJ

0,5
50

N5HF
5

125

0,75
50

N5HF
4

125

1
50

N5HG
3

122

1,25
48

N5HG
3

120

1,5
45

N5HG
2

118

LSO = Luftregulierschraube offen
LD = Leerlaufdüse
POS = Nadel Clip Position von oben
HD = Hauptdüse

NICHT FÜR STRASSENBETRIEB
Kraftstoff: Super Bleifrei ROZ 95

ASO = Air screw open from fully-seated
IJ = Idling jet
POS = Needle clip position from top
MJ = Main jet

NOT FFOR HHIGHWAY UUSE
Fuel: unleaded fuel with at least RON 95

USA = Premium PON 91

1
3

5

2

4



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [595.000 842.000]
>> setpagedevice


